vwunp pykp
Puwljmt pUtnph b jwtinttwynp Ynuinnpuljubph gnidwpp
nsynid £ juwnp phy: vwunp pyh gpundubimjut ke

tnus puwluwb phjp Ynsymud £ juwnp pyh undpnng dw,
hulj ynunnpulp’ Ynunpuljughtt dwu:

Ophtiuy
2%-]} huwunp phy k, 2-p wdpnne dwut k, huly %—]}

ynunnpuljughi: Yupnugmu k' bplnt unipnne kpkp
hhugbpnpy:

3 3
2;=2+§

bPusybu wulwint Ynuinpuyp gptup juwnp pyh
wnbtupny.

19:2=9(1du. )

19 1

22

bPusywbu ppwnp phidp gqpkup mujuunt Ynwnnpulh
wnbkupny.

1 402+1 9

T
Unwownpuipukp

¢ wnp pjip ubpluyumgplp puwlwb pih b
juwuntwynp Ynunnpuyukph gnidwph wnkupny.



*n3 5 3
Ophtiul 2-=2+;

155 = 15 + =
5
110§=110+—
9 9
ZH_Z-I_H

e [@Jtph gnuiwpp gph wnbkp jownp pih nbupng.
Ophtrurly 4+ = 4

3 3

12+1—5 = 121—5
7 7
117+E =117 Py

13 13

e Uljwlnt Ynunnpwulp gpkup jpwnp pyh wnkupny.
Ophtiwly 19:2=9(1ufl. )

19 1
=2 o=
2 "2

e uwunp phyp gqpkup wiljubnt Ynnnpulh wnbkupny.



Opbhmll 4——

7 2x12+7 31

ZIE'_ 12~ 12
5;1___5x30+9 _ 159
30 30 30
711 _ 7x30+11 _ 221
30 30 30

315 _ 3x22+15 _ 81
22 22 22
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